googo 10,20 20080 50 260

39. ODO0O0OOODOO

1 1 1 1 1 1
(1) arctan 3 + arctan 31 (2) 2arctan 3 + arctan 7= % (3) 4arctan E arctan 239 = %
arccos x 0<zx<1
(4) arcsinz = arctan (5) arcsiny/1—z? = ( )
1— a2 m—arccosz (—1 <z <0)
40. 000000000
. arcsinx . (arccos)? . arctanx ) ™
(1) Jom — () Jim S @) Im SRS (@) (G - arctans)
41. 0O00OOOOOODOObOOO
1
(1) arccos(sinx) (2) arcsin(cosx) (3) arctanx + arctan —
x
1 _ 1
(4) arcsin(2zv/1 — 22) (5) arctan 4/ 1—%-%
42. 00000 n0O0O0OO0OO0OO0OO
1
(1) (2) e®cosx (3) 2®cos2x (4) sin®x (5) 2" 'logz

22+ 3x + 2

43. f(x)O nDDDDDDDDDDD{x"—lf(l)}(n)zﬂf(m(%)DDDDDDDDD

E zn—‘—l

dn
44. f(z)=arctanz 0000 d—:::(n—l)!cos"y sin (ny+%7r) (n=1,2,..)0000
X

45. y=arctanz 000000000
(1) (1422 "D (@) + 202 f™) (@) + n(n = 1) f" (@) = 0
(2) fE™0)=0, &V (2) = (-1)"(2m)!  ((1)ODOOODO)

46. H,(z) = (—1)%“2/2;7”” (e—w2/2) 0000000000
(1) Hyir(2) = oo (@) — nHy 1 (2)
(00000 H,(2)0 n00000000000000000 Hermite 0000 000)
(2) Hi (@) = nH, 1 (x)
(3) H)l(x)—zH)(z)+nH,(z) =0 (Hermite 0 0000 O)

47. 000000DDOO0O0O00O dy/de 000 d?y/dze?000000000

1 1
(1) xa(tth),y_a(t—t) (2) = =acost, y=bsint

48. f(x)0000D0O000O0O0OOOO0UOO f(x)=00000020000000000000 f'(x)=0
000000 1000000000 RolleDOODOOOO

'000: lim $2% =1000000000(2)0 ¢ =arccosz, (4) 0 ¢t = § —arctanz 0000
u—



